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Introduction

ou may not realize it, but math is
a big part of our everyday lives.
Spending money, making movies
and music, building houses,
getting medical treatments — these things
all involve math. In fact, much of what
we do and many of the things we use
are only possible because of someone’s
understanding of math. That's why it's so
important for everyone to have basic
math skills. The math skills you learn in
elementary, junior high, and high school
can open many doors in your future.
They will help you in further studies,
in the workplace, and at home.

As a grade 12 math student, you've spent
many years learning math skills and
concepts. In the upcoming provincial math
exams, you will have an opportunity to
show what you've learned. The provincial
exam will test you on all of the math
principles and concepts you learned in

the Mathematics 12 or Advanced
Mathematics 12 course.

This Study Guide is meant to help you
prepare for the provincial exam. It's a
summary of the information you learned in
class this year, and it outlines what you are
expected to know by the end of the course.
It's divided into the four units you've been
studying: Quadratics, Exponential Growth,

Circle Geometry, and Probability.
In this guide you will find...
® curriculum outcomes for each unit

® math concepts you should know

® examples of questions along with
possible solutions

® questions for you to try on your own

As well as possible solutions to sample
questions, we have also included examples
of how your thinking process might work
to help you choose suitable methods to
solve a given problem.

As you prepare for this exam, your motto
should be “practice, practice, and more
practice.” You will have to work hard — like
studying for any math exam, this means
reviewing and studying course material and
doing plenty of practice questions. We also
recommend that you talk about math.

Talk to your teachers and your classmates
about math concepts and solutions to

math questions or problems.

While this Study Guide is a good start,
you should also use your math textbook,
class notes, and any tests or assignments
to get ready for the exam.

Being prepared is the most important step
toward success. Good luck with the exam!




Study Tips

’

Nova Scotia students are expected to learn mathematics “with understanding.’
Learning with understanding means being able to apply concepts, procedures,
and processes in the right places.

Often, developing understanding of a subject requires effort.
What can you do to help yourself learn mathematics? Here are some ideas:

1) Be an active participant in class.

2) Do your homework and assignments. Don't get behind in your work.
3) Manage your time wisely.

4) Prioritize your activities—your education comes FIRST.

5) Keep a complete and organized set of notes. Remember that your textbook is
also a resource for you to read.

6) Reflect on your learning by reviewing material that you have previously learned.
7) Prepare for tests and exams many days in advance.

And how about when you're actually writing the exam?

Here are a few ideas that can help:

1) Scan the entire exam.

2) Do the questions you consider to be routine or easy first. Manage your time wisely,
making sure you don't spend too much time on any one question.

3) If the method to solve a problem is not specified, use the most efficient one.
4) Show all required work clearly. (Refer to the Study Guide for examples of complete solutions.)

5) When finished, check your work.




Quadratics

THINGS TO REMEMBER

If y=ax’ +bx+c

where a, b and ¢ are real numbers and a+# 0

If b —4ac >0 then cither

The function has 2 real zeros
therefore 2 distinct x-intercepts. The
equation ax’ +bx +c =0
has two real roots.

If b> —dac =0 then cither

OR

The function has a double real zero
and therefore one x-intercept.
The equation ax’ +bx +¢ =0
has a double real root.

If b° —dac <0 then either

\/

OR

/\

The function has two non-real zeros
and therefore no x-intercepts. The
equation ax’ +bx+c¢=0
has two non-real roots.

Zeros of the function and the roots of
the equation are exactly:

—b+b’ —4ac

x=—1—79—#— and
2a
_ —b—+b’ —4ac
B 2a

If b* —4dac is a perfect square an
exact rational answer is required.

If b° —4ac is not a perfect square a
decimal approximation is possible.

Zeros of the function and the roots
of the equation are exactly:

v —b++/b’ —4ac
- 2a
v —b—+b* —4ac

2a

An exact rational answer is
obtained.

and

Zeros of the function and the roots
of the equation are exactly:

. —b+Vb* —4ac
- 2a
e ~b—-+b?> —4ac

2a
Answers will be complex or

imaginary and should be expressed
as

x =a t bi (where i=\/—_l)

and

Vertex at(—zb—a, f(— Zb_aD

b b
Vertex at [— 20’ f(— ZD

b b
Vertex at {_Z’ f[—;;]}

Transformational form is:

A2

2

Transformational form is:

oA 22

2

Transformational form is:

(A 22

2

b
Axis of symmetry is x = “a
a

b
Axis of symmetry is x = ——
2a

Axis of symmetry is x =——
2a
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Quadratics

SEQUENCES

PAGES 2 TO 11 IN THE TEXT

e

'||||I"||I|I||II‘|I|II |II|||||
Juice
describe and interpret domains and ranges using set notation

—"

| am expected to...

A "
:..Illl-‘ /
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‘

demonstrate an understanding of patterns that are arithmetic, power,
and geometric and relate them to corresponding functions

analyse tables and graphs to distinguish between linear, quadratic,
and exponential relationships

What do | LiAVE to kpow?

® \What is a sequence? [C4]

® How could I model a sequence? [C4]

® How do | represent a sequence in a table? [C4]

® \When is a graph discrete? How do | express the domain and range? [A7, C4]
® \Vhat is a power sequence? [C4]

® \What is an arithmetic sequence? [C4]

® How do | identify if a power sequence is linear, quadratic, or cubic? [C4, C29]
® How could I model linear and quadratic functions? [C4, C29]

® Do | know when to use the formula t,, = t; + (n — 1)d? [C4, C29]

® Can | explain why this formula generates a sequence that is arithmetic? [C4]

® \What conclusion can | reach from finding the differences called D, D, and D3? [C4, C29]

NOVA SCOTIA EXAMINATIONS IN MATHEMATICS
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What \iciirjt look like

on the provincial exam?

EXAMPLE 1
Which of the following sequences could be generated by a quadratic function?

A {1,234, .} B. {-5,-3,3, 13, ..}
C. {2,4,8,12, ..} D. {2,618, 54, ..}

Ways of Thinking about Solutions

How do | use lists or tables to tell if a sequence can be generated by a quadratic function?
I should think about common differences.
If the second-level difference is constant, we know we have a quadratic.

A. 1 2 3 4 B. -5 -

v v Vv v’
] [l \ 2

3 13
v v
6 (O

3
Y fes

Can | DO these onmy own?
"' b !-:: ||| ) !!IIII! 1 I S l ll || || !| ml4 Illlw |A lj l| I l"

1. Which of the following sequences could be generated by a quadratic function?

A {2,4,6,8, ..} B. {1 416,64, ..}
C. {2,5,8,12..} D. {28, 18,32, ..}

2. From the text, try the following questions:
Pages 5 and 6 (questions 12 and 13)
Page 72 (questions 1-3)

A STUDY GUIDE FOR STUDENTS PREPARING FOR



Quadratics

USING GRAPHING TECHNOLOGY

PAGES 15 TO 22 IN THE TEXT

Dutcomes .|

| am expected to...

)

A U1 WA

> B Y

- - . - . W ]
describe and interpret domains and ranges using set notation / —
V/I‘_

w1

A U

model real-world phenomena using quadratic functions
sketch tables and graphs from descriptions and collected data

describe and translate between graphical, tabular, written, and symbolic
representations of quadratic relationships

analyse tables and graphs to distinguish between linear, quadratic,
and exponential relationships

solve problems involving quadratic equations

analyse, determine, and apply scatter plots and determine the equations for
curves of best fit, using appropriate technology

What do | H1AVE to kn

® How do | enter data into my graphing calculator? [C1, F1]

0|

g
1 I|F!1I| I'

® How do | determine the equation of the curve of best fit for my data? [C1, F1]
® \What work should | show when | am using a graphing calculator? [G3]

® (Can | state the domain and range of a quadratic function? [A7]

® Can | determine values from a graph or an equation of a function? [C8, C23, F1]

® By examining a graph, can | determine whether it is linear, quadratic,
or exponential? [C8, 23]

® From a graph can | determine the maximum or minimum values? [C8, C23]

NI

® How do | know when to use the vertex of a parabola to solve a problem? [C1, C23, F1]

Il\ |ll
A

A

NOVA SCOTIA EXAMINATIONS IN MATHEMATICS



® \Vhat information do the x—coordinate and y—coordinate of the vertex provide? [F1]

® How do | know, given the graph or the equation of a quadratic function,
if it has a maximum or minimum value? [C8, C29, C23]

® How do | use the “maximum” or “minimum” feature on the graphing calculator
to determine the coordinates for the vertex? [C8, G23]
Il
I

What CHT jt logk like.

on the provincial exam?
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EXAMPLE 1
At the Halifax Airshow, a plane performs a power dive. The equation h = 10t2 — 60t + 150
expresses the relationship between height, h, in metres, and time, t, in seconds during the dive.

(a) What is the minimum height that the plane reaches during the dive?

(b) When will the plane be at a height of 100 m during the dive?

i

Ways of Thinking about Solutions
For part (a), what is a minimum value, and where do | find it on the graph?
How do | use my calculator to graph the given function and find the minimum valug?
For part (b), how do | use my table feature to evaluate the function for = 1007

I
l

|
\
R

I
\

900
G) The /O/ane Noc/)ti a minimum
)')L/'g/‘n/- of LOm.
(3,&0) A_) U.‘u‘ry he %ab/e, /§a9[ure
1)) i

the /)/ane will be a}z a
Ae,ﬁh/ of W0m affer
/decLono/, and aﬁa/'n afbor

3 seconds.
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91 .
f’ J Craph = 10 2t Lox + /50
\ ) 6-‘@ and iy = 100
-U’\/(_ \31‘ Bclo/71 the - vahies of %é /'niél\ﬁec%'o/)
Por/\ 3.
—>
b x

EXAMPLE 2
The function y = 3x2 — 12x has
A. aminimum value of —12 B. aminimum value of 2
C. amaximum value of —12 D. amaximum value of -2

Ways of Thinking about Solutions

How do | know from the equation if | have a maximum or minimum valug?
Looking at the coefficient of x2 indicates whether | have a maximum or minimum value.
The graph shows that it is a minimum because it opens upward.

Z/J; The minimum f/,ea}[uu“e

7946 Ca/cu/& /or' /chi caLe, 3)
7‘/}& minjimum l/O/LHL is -12 | S0
A 2 eorpect

(a,~12)

- O

Ll see on Ma{ymﬁ/\ 7L/)a7l the min/mum Ua/ue_

mus?  be neﬁ’ﬂ cve, s0 A s he rl‘?/\iL answer,
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EXAMPLE 3
A ball is released and rolls down an inclined plane. The distance it travels with respect to time
since release is recorded in the following scatter plot:

209 S S

Distance (cm)

Time (s)
It was determined that a quadratic function would best represent this data set.

(@) Using your graphing calculator, do a quadratic regression and fill in the values for a, b, c,
and R? that you obtained on your graphing calculator.

QuadReg
y=ax’+bx+c

Q=
b=
&,

The quadratic function is

(b) What is the significance of the R2 value obtained?

(c) Given the ordered pair (6, ?), determine the missing coordinate. What does this ordered pair
represent in the context of the given problem?

A STUDY GUIDE FOR STUDENTS PREPARING FOR
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Ways of Thinking about Solutions

How do | enter data into my graphing calculator?
How do | use the calculator to graph the curve of best fit?

a) é’n/en 7%4’. cﬁa}a m7lo L/Ml/ and L/:\]lﬁ /ﬁu’)

st ?"“M)’Q‘j
a :z 3.4
b = -/s 50,%/{4 x7ua 10N s
: : 3.5xz
ol Y g2 35xZ /5y vf

A) value of / /;p Y means Hhat Yho 2 ua%a
/3/5 #he date /pef‘/ic%/y Bt / !

To answer part (c), how do | use either the equation obtained, the graph of the function, or its
table to determine the y—value when x = 67

¢) 7(4): 3.5{A)Q - 150L) +1 =18, s0 (G, 1/8) .

This coorod;'na}& 7/1//5 wi fi(alz Yhe Aol will Aave
travelled 118 em in ( 3eC

Can | DO these on mv own?

1. A batter hits a ball, and its height, h, in metres, with respect to time, t, in seconds, is
expressed by the function h = — 5t2 + 10t + 1. What is the maximum height of the
ball and what is the time required for the ball to reach its maximum height?

2. From the text, try questions 5 and 6 on page 16 and question 5 on page 72.
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uadratics

TRANSFORMATIONS

PAGES 24 TO 31 IN THE TEXT

e O My
Ico

CLUE
describe and interpret domains and ranges using set notation

I|||||||

i
| “"
‘I”::Il )

| am expected to...

demonstrate an understanding of the relationships that exist between arithmetic
operations and the operations used when solving equations

describe and translate between graphical, tabular, written, and symbolic representations
of quadratic relationships

translate between different forms of quadratic equations

analyse and describe the characteristics of quadratic functions

demonstrate an understanding of how the parameter changes affect the graphs
of quadratic functions

 What do | 1145 o know?

How can | change a quadratic function between transformational form, standard form,
and general form? [B1, C9]

lII

I
A

|
_
N

® Can | identify the transformations on y = x2 when the function is in either transformational
form or in standard form? [C31, C32]

® C(Can | determine the vertex from an equation of a quadratic function? [C31, C32]
® (Can | determine the domain and range from a graph? [A7]
® \Vhat is an axis of symmetry and how is it related to the vertex? [C31]

® Can | express the transformations as a mapping rule? Can | write an equation or sketch
a graph from a mapping rule? [C8, C31, C32]

I

® How do | use a graph to determine the transformations? [C31, C32]

vy

y-

A STUDY GUIDE FOR STUDENTS PREPARING FOR



® How do | determine an equation of a quadratic function given its graph? [C8, C32]
® Do | know the significance of the y-intercept? [C31, C32]

® \What effect will changing the value of a or ¢ in the function y = ax2 + bx + ¢
have on the graph? [C32]

What viCLT it Jook like

on the provincial exam?

‘ i
O

|
|

EXAMPLE 1

i
|

L]
Enm_

I

What mapping rule describes the transformation of graph 1 onto graph 2? ;?’5:'_,=
e ———————

v Y —

A (xy) = (x+5-12y-7) B. (x.y) > (x=7,-%2y-5) I

C. x,y) > (x+5-2y+7) D.(x,y) > (x=7,-2y+05) _—
Ways of Thinking about Solutions —

b
i

How do | use the graph to describe the transformations in a mapping rule? :/( 2
Yo voley hoo “toved. fm (0,0) Zr (‘7,5'],
[ﬁzu/mu/ 0D v Lha ﬁ'n,%( WM@ and el |
U nud 2y phick ofp D oncludsy o feflecliors
and. o dlulek of @ I Ace -2 a0 Uy @%/WMLZ
71@7' o Lhe Mapping reele D s comnel

NOVA SCOTIA EXAMINATIONS IN MATHEMATICS
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EXAMPLE 2
The function y = ax2 + bx + c is represented by the following graph:

~

Which one of the following statements is true?
A ¢c>0 B. ¢=0

C ¢<O0 D. cisanimaginary number

Ways of Thinking about Solutions
What does the value of ¢ in the function y= ax% + bx+ ¢ represent, and how do | determine the
y—intercept of the function?

5 e y-mfer(:e/oi!' m/uc,, which on Hhi
ﬁra}OA s zero, 30 B. c: 0, must be the

COPN_C/' answer,

EXAMPLE 3
A parabola has a minimum value at its vertex (1, 3). Which one of the following statements
describes the domain and range of the function represented by this parabola?
A. {xeR}and{y e R} B. xeR|x<1}and{y e R}
C eR|x=1}and{yeR|y=3} D. xeR}and{yeR|y=3}

A STUDY GUIDE FOR STUDENTS PREPARING FOR



Ways of Thinking about Solutions

Is this graph opening upward or downward? How can | determine the domain and range from a graph?

Thow iv @ VAl ot (13) and L

MMAMWWWQIMW
WMMMUJM

5 Ay e fangt 4!
3 {/:33 € R
2 The domacn 2 x ER
A
) 2345 x

s DW &W%MMMM/

EXAMPLE 4
A quadratic function is represented by this graph:

(@) Write the equation of the quadratic function (in general form).

(b) State the domain and range.

NOVA SCOTIA EXAMINATIONS IN MATHEMATICS




Ways of Thinking about Solutions

How do | determine an equation of a function, given a graph, and how do | write it in general form?

&) The pattern From the vertex far yiX s over ), yp |,
over L, up ’
From the guaph T can aee that the pattern)s over |,
O{Ow/).,l oue &L, Adowon § %L}/O’UL a velwad el
of 2 (d2) o a ﬁ%@@mmm F-apew (poratote
Opwu.m? Oéowﬁwa/wfa,)

'/L/z/ ¢) -(z-2)*

o am ?Mzua{fow Y -5 - “ U X Y14 y)

f=-dple S -51y

Y= “Ax ¥z
JAe W L al [J?)
40 a,/7 ¥) - (x-2)*

%WMW%A,M
A,WMZ},M Z‘LUW

E

,L(a 7). (-9"

'37/a.=l
-l s N
° -_;/L_//z/»y).—(x—;) v
do qenral : 7 -2 2t #)
W ; oz/n Y8 -9y
7—-021”77(.

m@v s Ll

2y W/@
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For part (b), how can | express the domain and range?

Domairs : § x € R}

ﬁa/n?a: i%eﬁl%ﬁ?}

or

L.O-G‘YWU € ("°°/°°)
KML?,L-' L}e(""’, 9]

EXAMPLE 5
A batter hits a ball, and its height, h, in metres, with respect to time, t, in seconds, is expressed by
the function h = =5t2 +10t +1. What was the initial height of the ball when it was hit?

Ways of Thinking about Solutions
Do | know that the y—intercept is the initial position of a projectile, and how do | determine
the y—intercept from the function?

She y- lincept o 0,1 ) s the wutiad higihk

e 3

f(0) = ~S(@* +10()*!

=1

oot ntial gt woe bom
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EXAMPLE 6
Which one of the following is correct? The graph of the functiony = (x + 7)2 + 4
is the image of y = x2 after
A. ahorizontal translation of 7 and a vertical translation of 4
B. a horizontal translation of -7 and a vertical translation of 4
C. ahorizontal translation of 7 and a vertical translation of -4
D. a horizontal translation of -7 and a vertical translation of -4

Ways of Thinking about Solutions

How can | determine the transformations on y = x2 when the equation of the
function is in standard form?

s x+1) Y

wru%m\)raﬂ tramolakiom 6f~7

wentical bBramolation of 4
B 1o covuct

EXAMPLE 7
Which quadratic function best represents this graph? (a, h, and k are positive real numbers)

- ..;I...r .:}.I
A y=-a(x-hZ2+k B. y=-a(x+h)2-k
C. y=a(x+h2-k D. y=a(x-h2+k

|
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Ways of Thinking about Solutions
Given a graph, how do | determine the equation of the function, and how can | see the
transformations of y = x2 when the equation is in standard form?

\1/(;2/ Lowrnwwarol Ao’

2'J.L Va4 é(/

Tugalive . Mo elhun A o B,
%wl;,% ww Ct +) a0 A ynwed o
Ll .
Y - 'a.(%”)ﬁ)alflg
: | N vt i 'k

spnt At k'
docvru,uﬂlw(/

1. Given that the quadratic function y = 3(x - 2)2 + 5 is the image of y = x2 after some
transformation, determine the transformations and determine its mapping rule.

2. The function y = ax? + bx + c is represented by this graph:

MR o @ D
—_— <
)]

.....

4-3-2-1 1 12 34567

—r—— |
L
T T T T

o~
o
T

Which of the following statements is true?

A.a>0andc>0
Ca<0andc<0

B.a>0andc<0
D.a<0andc=0

3. From the text, try questions 6, 8, 9, and 10 on pages 30 and 31.

NOVA SCOTIA EXAMINATIONS IN MATHEMATICS
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Quadratics

QUADRATIC FUNCTIONS

PAGES 31 TO 35 IN THE TEXT

JUICOME
I am expected to...

demonstrate an understanding of the relationships that exist between arithmetic

operations and the operations used when solving equations

describe and translate between graphical, tabular, written, and symbolic
representations of quadratic relationships

translate between different forms of quadratic equations

solve problems involving quadratic equations

Viidl Ul ifa J ROV

® How can | rewrite a quadratic function from general form to transformational
form? [B1, C9]
® What does “completing the square” mean? [B1, C9]

® When do | need to complete the square? [B9, C9, C23]

'.\\ ‘l' “ | U l-

on the provincial exam?

EXAMPLE 1
Given the function y = —3x2 + 6x + 3, show how to change the equation of the function

into transformational form.

A STUDY GUIDE FOR STUDENTS PREPARING FOR




Ways of Thinking about Solutions

Can | rewrite the equation of a function from general form to transformational
form by completing the square? Do | know what procedure to follow to
complete the square?

~3)L +é/,-f3
Y3y X -Jdp- |
Byt 76'2'02,@

Buyriel s xudpel
/L”L‘H;L (2:/)

@ '/3(4}-6) :.(1 /)

Atraphicatiy

04 (1,6)

3/\

// 3
From tho U con gee
(e, - aly o) Sopitnn
X A J/ -3 Ao
P /) mu e,V x-aycy
WA 0% 3.

e Uk o) (x-1)"

EXAMPLE 2
At the Halifax Airshow, a plane performs a power dive. The equation h = 10t? — 60t + 150

expresses the relationship between height, h, in metres, and time, t, in seconds during the dive.
(Solve this question algebraically.)

(@) What is the minimum height that the plane reaches during the dive?

(b) When will the plane be at a height of 100 metres during the dive?

NOVA SCOTIA EXAMINATIONS IN MATHEMATICS




Ways of Thinking about Solutions
For part (a), Should | rewrite the equation in transformational form, and how can | do this
algebraically? How do | know when | will need to use the “completing the square” procedure?
What do | have to do to complete the square?

el 'm aakecl %»L 'W Ke‘ at’
7] ’t{""‘f'“’" )
’ h= 10t*~got +i50
h-150= s6( t*-61t)
A-7/50+90 = /ol £*~¢t +9)
K-bo = /ot ~-3)
Elh-60) =(¢-3)"
l/erl‘v,p /s at (3 60)

[See also the graphical approach taken to solve this problem when it first appears on pages 4 and 5]
For part (b), how do | solve the equation for twhen given an f-valug?

i F=100 then 5 (r0-60)=t3)
L (#0) = (¢-3)°
/0
#=(€e-3)°
A¥ =Aie3)"

*z= t-3
NS R AN

‘ ' aSe 0N MY OWr

1. Given the function y = -2x? + 4x -5,
(@) Write the function in standard form.
(b) Write the vertex coordinates.
() What is the equation of the axis of symmetry?

2. From the text, try the following questions:
Pages 32 to 35 (questions 15, 17-23, and 26-30)
Pages 72 and 73 (questions 6-9 and 11)
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Quadratics

DETERMINING QUADRATIC FUNCTIONS

PAGES 36 TO 39 IN THE TEXT

Qutcomes

| am expected to...

!!i

Nt
‘|i||i‘i‘

A 14

Ny,
",

demonstrate an understanding of the relationships that exist between
arithmetic operations and the operations used when solving equations

AN

describe and translate between graphical, tabular, written, and symbolic
representations of quadratic relationships

solve problems involving quadratic equations

What do | LAV to kpow?

® \When | read a problem, do | know how to model it using a quadratic function? [G23]

® To determine a quadratic equation, what information do | need? [C8]

® |f I'm given the coordinates of the vertex and one other point on the parabola,
how can | determine the equation of the quadratic function? [B1, C8]

What \11C1i7 it look fike

on the provincial exam?
1. Write the equation of the quadratic function (in general form) shown in this graph:

L — 4,
T —— Y,
14 N X

n . S, S

1 . A

Wz J = |

[ ee®” ]
L

A

|
an
y

¢

LI
ih»
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- Ways of Thinking about Solutions
-//g What information do | need to determine the equation of a function from a graph?

How do | write the function in general form?

TG D A b i e G e e e é@—y)—'(pc—.))z
Jnatﬂm.fzau;d: on the grapsh Yy (3,4,)“
L (é-8) - EEEnnh

R
a
a = —a
= “‘{(-8):( _>‘2
2y k-2

Ao j—8 si=2 (x—;)z_
g -2(x - #x +'74)+8
Yo -2y +8x -5 +8
Y= -2+ 8

an | Do these on my own?
<0//4 1. What is the equation of a quadratic function that has a vertex at (-3, 7) and

passes through (4, —1)?

2. The arch of a tunnel has the shape of a parabola. Its highest point is 9 m above the
centre of the road, which is 5 m from the edge of the tunnel. Can a truck that is
3 m wide and 5 m high pass through the tunnel?

3. From the text, try the following questions:
Pages 38 and 39 (questions 39-45)
Page 73 (questions 10(a) and 10(b))
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uadratics

ROOTS OF QUADRATIC EQUATIONS

PAGES 41 TO 54 IN THE TEXT

Outcames TR
OlIcomes

| am expected to...

demonstrate an understanding of the role of irrational
numbers in applications

represent non-real roots of quadratic equations as complex numbers

demonstrate an understanding of the relationships that exist between arithmetic
operations and the operations used when solving equations

derive and apply the quadratic formula

describe and translate between graphical, tabular, written, and symbolic
representations of quadratic relationships

solve quadratic equations

solve problems involving quadratic equations

\What do | HAVE to know? |||
WAL Q! i AN b KINOWA

® (an | use the four methods for solving quadratic equations: graphing, factoring,
completing the square, and using the quadratic formula? [C8, C22]

’i|||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||

|
to

® (an | recognize which method is most efficient to use? [C22]
® Do | know how to use the CALC menu to solve quadratic equations? [C22]
® \When | solve a quadratic equation, what does the solution represent? [C22]

® \What is the relationship between roots, x—intercepts, zeros, and solutions of
quadratic equations? [C22]

® Can | solve an equation in the form ax2 + bx + ¢ = 0 to show where the quadratic
formula comes from? [B10]

NOVA SCOTIA EXAMINATIONS IN MATHEMATICS
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® Do | know that x = —2% is the axis of symmetry?
® Can | determine the y—value of the vertex knowing the x-coordinate? The vertex is
b b
LU Y
( 2a ( 2a ) )

® Do | understand that | have non-real roots (imaginary roots) when the discriminant
is negative? [A9]

® Do | know how to write non-real roots as complex numbers? [A9]

@® Do | know when it is better to write irrational roots as “exact” roots, or as decimal
approximations? [A3, C23]

@® Do | realize that when | read the words “maximum” or “minimum” | need to determine
the vertex of the quadratic? [C22, C23]
||l||||'|||| I
\/\

hat MICHT jt o

on the provincial exam?

IR
" 11 Il'
K (s

EXAMPLE 1
The function h = —5h2 + 20t + 2 describes the height of a baseball, h, in metres, as a function of
time, t, in seconds, from the instant the ball is hit. Mark solved the equation —5t2 + 20t + 2 = 0,
and its positive root represents

A. the initial height of the ball

B. the maximum height of the ball

C. the time it takes for the ball to reach a maximum height of 2 m

D. the time it takes for the ball to hit the ground

Ways of Thinking about Solutions

When | solve a quadratic equation, what does the solution represent?

gﬂﬁzm 590t r 2:0 J bnow
Tho Aught w 0. VHurefsri

pois C vabue N preden by /Z}{meﬁzrrw
D w Lho el anwwenr.
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EXAMPLE 2
Solve the following equation. If the root(s) are non-real, express in terms of i.
2X2 + 6x = -17

Ways of Thinking about Solutions

Do | know what solving the equation means?

Fout Neuwnde  The WU
g ;fmv.l/‘v.a.L W (aysbr+e :0)

T Yo - HI(T)

2(2)
X = -6 i—b’/OO
$
If the discriminant is negative, do | know how to write these roots as complex numbers?
‘ : anrd Z = -3 - .‘2”9
Lz-62*00 x:-3 + hu L A
T TR

EXAMPLE 3
A photograph measures 40 mm by 62 mm. A frame of uniform width is placed around the
photograph, doubling the area. What is the width of the frame?

|
N
a "N I'A )

@
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Ways of Thinking about Solutions

Begin by sketching a diagram that incorporates all the information, and then form an equation.

Sketeh a J,bj/\am,f /ooéjib/c.'

/4/‘!.& OFIDI‘CJ[UI‘Q = 42 v 4o
= 2480
ﬂrea Df/m'c_}ure_ + Frome - 2(2#80)
(b2 + 2x)(90 +2 x) = %940
24%0 + 80 x + /24 x s Yxr: 4940
Y2y 209 x - 2486 = 0

x4+ 5/ 3y - ¢10: D

Do | know how to solve a quadratic equation and when it is better to write irrational roots as
“exact” roots or as decimal approximations?

x oz - m

b1t

da
4 02/ o : g
e & Lo
£ '5/ .T7/p1 W@Z/ ¥y m
2L S Hex Gppragimalioro)
=6l 1Y oL 1044
Jhe wndth  can't te W A0

Mo wndth af The Sframe L0 10 14 mm.

o

MWW?W /ZZJW

A+ %8l -6d0

700 L (10‘14,0) Where 4:0, 7?55/7(-6:22/0
&C% o e poelne F
e 3o , /LW

- 1500+ Zle . 17%M

Y L0144 mm.
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Can | DO these an mv owr

From the text, try the following questions:
Pages 44 to 47 (questions 8-12, 15, 16, 21, and 22)
Page 49 (questions 28-32)
Pages 52 and 53 (questions 37, 39-41)
Page 54 (questions 44, 45, 48, and 49)
Page 73 (questions 14-16)
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NATUQuadratics

OF QUADRATIC ROOTS

PAGES 55 TO 57 IN THE TEXT

MWMMWWMM w
l )
|||||||||||[ Juicomes

| am expected to...

demonstrate an understanding of the nature of the roots of quadratic equations
represent non-real roots of quadratic equations as complex numbers

derive and apply the quadratic formula

relate the nature of the roots of quadratic equations and the x—intercepts of the
graphs of the corresponding functions

| What do | LA\ to know? |
'||||||||||||||m nat uo | AVE 10 Know? |"
Do | know how to calculate the “discriminant™? What can | conclude about the roots of
the equation when | know the value of the discriminant? [A4]

® Do | understand that -1 =i? [A9]

® Do | know that if I'm given two roots of a quadratic equation, | can derive
the equation? [A4, C15]

| What L11CLT it ook Jike

on the provincial exam?

EXAMPLE 1
If the roots of a quadratic equation are —2 and 4, the discriminant is
A. an imaginary number B. 0
C. a positive number D. anegative number

A STUDY GUIDE FOR STUDENTS PREPARING FOR



Ways of Thinking about Solutions

Do | know that if the discriminant has a positive value there will be two distinct x—intercepts
for the graph of the corresponding function?

IF /’Aere, are Qf‘ea/ o}:ﬁeferﬁL roo?Li (—bi UA?'-‘/QC)
2a

J\l\
l

The c);‘ocm'm/nanlL(b’L- Hae) must be Poa/‘%‘ue,

so, C /s the answen

/

EXAMPLE 2
Select the correct graph for y = — (x — m)(x — n), if m>0 and n>0.

NOVA SCOTIA EXAMINATIONS IN MATHEMATICS
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Ways of Thinking about Solutions
Looking at the coefficient of the x2 term, | can determine if there is a reflection in the x-axis.
Then, because the function is in factored form, | can determine whether the zeros are
positive or negative.

o tusffuesnt of X ww negalivw | Drifars)
e o o Ww o Ue  Fropl

b0 wllev Ao C are pretdls oteiZiond
J{ m>0 and N°0,-° lalho ool ane

W,@%w-w&cﬁ/

‘|||IIIIII||IIIII‘|III|||||||||"‘|||||’""|ll||l||||||||||||I|||||“III||!IIIII!||II||!|||||||||||||III||||’I|III||||||II|||||||“II||II|||||I||I|||II||II||II
can 1)) nese on my ow

From the text, try the following questions:
Pages 55 to 57 (questions 51-60)
Page 74 (question 19)

el
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Quadratics

SEQUENCES

PAGES 11 TO 14 IN THE TEXT

Wiidames T
||||| OIS '

| am expected to...

@[ADV] determine the equation of a quadratic function using finite differences

What do|| LIAVE 10 knowd |

)
® Do | know when to use the finite difference to determine a quadratic equation

10

in general form?

® Do | know that D, is equal to twice the a—value in the general form of the quadratic
y = ax2 + bx + ¢?

@® |[f | know the a—value, how do | calculate the b and c—values?

® Knowing the a, b, and c—values, can | write the general form of the equation?

Can | D0 these on mv own? | .
'|l'||ll!!!!:;;! !Iul ) !1||||| lml H! ||| H! Im!l Iml Inl!nl l“ !m!l mw lml i ||||'

1. Determine algebraically, using finite differences, the function that represents the
relationship between the x—values and the y-values in the given table.

X 1231456
y | 5 [ 19|43 |77 121|175

2. The number of shaded triangles in the following figures forms a sequence.
Algebraically determine the function that will generate i

R ]

ars2 VAN
_..-' "-\._. J."'r l_.-"\,v_ \"‘,_.-" '\-_l"

A AL AAA AAAA

3. From the text, try the following questions
Pages 12 to 14 (questions 38-42)
Page 73 (questions 10(c), 10(d), and 12)

the sequence.

NOVA SCOTIA EXAMINATIONS IN MATHEMATICS




uadratics

THE NATURE OF QUADRATIC ROOTS

PAGES 58 AND 59 IN THE TEXT

JUICOME
I am expected to...

@ demonstrate an understanding of the nature of the roots of quadratic equations

Note: Although this is not an advanced outcome, students in the advanced course
should also understand that the sum and product of the roots ry and r, are
related to the coefficients of the general quadratic equation ax? + bx + ¢ =0 in

thisway ry 1 r— _ b 4 hxh= €.
a a

® Do | know how to use the sum and product of roots of a quadratic equation to
determine an equation that has those roots?

® Do | know that there is an infinite number of quadratic equations with those roots?

‘ JU 5O U y UW

1. A parabola crosses the x-axis at and 5.
1

(@) Write a function in general form representing such a parabola.
(b) Write a function representing all the parabolas that have x—intercepts at and 5.

2. From the text, try the following questions:
Pages 57 to 59 (questions 61-72)
Page 74 (question 18)
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Exponential Gro

THINGS TO REMEMBER

For y=ab*

Ifa>0and b>1

Exponential growth
Increasing function
Asymptote is y=0

Ifa>0and 0<b<l1

Exponential decay
Decreasing function
Asymptote is y=0

Ifa<0 and b>1

Decreasing function
Asymptote is y=0

Ifa<0 and 0<b<1

Increasing function
Asymptote is y=0

Fory=alog, x

Increasing function
Asymptote at x=0

a<l

Decreasing function
Asvmptote at x=0

Notice that the log curve does not cut the y-axis and therefore the log of zero or the log of a negative
number is not defined in real numbers

Rules for using Exponents and Logs

Exponents
aﬂl all =am+n
m
am __rall =an =am—n
a
(am =am-n
a"Y a™r
) b
Y |
a"=—and a" =—;
a
a’ =1

Logs
log (a-b)=log,a+log,b

log, (a +b)=log, (%) =log,a—log,b

log,a™ =mlog,a
loga
logn

log,a=

x=n" & y=log,x
-~ y =log, x means “y is the exponent to

which you raise the base n to get the
answer x.

If @’ =athenp=gq

If log, x =log,y thenx =y




Exponential Growth

GEOMETRIC SEQUENCES

PAGES 110 TO 115 IN THE TEXT

Outcomes LD

| am expected to...
describe and interpret domains and ranges using set notation
sketch tables and graphs from descriptions and collected data

demonstrate an understanding of patterns that are arithmetic, power, and
geometric and relate them to corresponding functions

analyse tables and graphs to distinguish between linear, quadratic, and exponential
relationships

analyse and describe the characteristics of exponential and logarithmic functions

What do | -A\E toknow?
"“t“» "| 141 !l! ) !!!!! A!:!t!‘ M il u;n! “' 10W ¢ )
® \Vhat is a geometric sequence? [C4, C33]

® |f | graph a geometric sequence from a table, is the graph discrete or continuous?
What are the domain and range, and how do | express them? [A7, C3, C4]

® \Vhat is a common ratio, and how do | determine it? [C4, C33]
® How can | determine if a function is linear, quadratic, cubic, or exponential? [C4, C29, C33]

® How do I distinguish arithmetic and other power sequences, from geometric
sequences? [C4, €29, C33]

® Can | explain why the formula t,, = t;(r)" generates a sequence that is geometric? [C4, C33]
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® Do | know that graphs of geometric sequences can form growth and decay curves? [C3, C33]

® How do | know when an exponential graph is a growth curve or a decay curve? [B2, C3, C33]

T

on the provincial exam?

A
C.

L What il

linear
logarithmic

o the

EXAMPLE 1
What type of function would best model the data in the table below?

X Y

1 214

2 45.6

3 72.6

4 102.4

5 135.0
B. quadratic

D. exponential

Ways of Thinking about Solutions

How do | determine from a table the type of function that best models the sequence of y-values ?

m&wd

2
7

neement? T
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EXAMPLE 2
Which of the following table of values is an exponential function?

A x]12 13 415 B x]2] 6] s]is
y|9 |16 |25]36 yl6|12]24] 48
c 2 |4 |68 oo x|2]s]s8lu
y11 17 [13] 19 ylaali2l 613

Ways of Thinking about Solutions

The x-values have to change by the same increment... and from the table | have to check for a
common ratio between y-values.

e Zabte) A,C, amet D Asve K- vraluey
ﬁfd Lhorge by Mo gome MMW/
Ao

: A and C
el pletica, WVW,.
ikl D dary). Mo D, LAy Covedl

EXAMPLE 3
Is 2%, 2x+2 2x+4 3 geometric sequence? Explain your reasoning.
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Ways of Thinking about Solutions

To be geometric there has to be a common ratio.

@{M o cerumen. feluwd

ts 2t
t, To
270y
5 z
2%
Lx_‘f"f :211-7‘
O,LI+.L

Wof;%w/w Mm%?
ST I

ll JO THNese on my owl

A 1,3,57, .. B. 2,4,6,8, ..

(ﬁ//l 1. Which is a geometric sequence?

C 47,1219, .. D. 15,3.0,6.0,12.0, ...

2. Show how to determine the function that generates the following sequence:
(32,31,1,3, ..}

3. Try these questions from the text:
Pages 112 and 113 (questions 7, 8 10, 11)
Pages 199 and 200 (questions 2 and 3)
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Exponential Growth

EXPONENTIAL FUNCTIONS

PAGES 115 TO 141 IN THE TEXT

e i)Y
OUTCOmMeEs

| am expected to...

demonstrate an understanding of the role of real numbers in exponential and
logarithmic expressions and equations

describe and interpret domains and ranges using set notation

apply real number exponents in expressions and equations

model real-world phenomena using exponential functions

sketch tables and graphs from descriptions and collected data

solve problems involving exponential and logarithmic equations

analyse and describe the characteristics of exponential and logarithmic functions

demonstrate an understanding of how the parameter changes affect the graphs
of exponential functions

analyse determine, and apply scatter plots and determine the equations for
curves of best fit, using appropriate technology
|||||I||'II||IIII
nks

ot do | 1

® \Vhat type of real-life situations can be modelled by exponential functions? [C2]

A

m

VE to know? ||
VE to know? "

® Do | know that compound interest grows exponentially, and do | know how to calculate it?
[C2, C33]

® Do | understand that the focal point on an exponential graph is the point (0, 1) and that all
exponential functions of the form y = bX, where b # 0, pass through this point? [C33]

® \What is an asymptote? [C3, C33]
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® Do | understand that data on an exponential curve approaches an asymptote? [C3, C33]
® Can | determine and express the domain and range of an exponential function? [A7]
® C(Can | evaluate expressions with positive, zero, and negative exponents ? [A3, B12]

® Do | know that the graph of y = 27X is a reflection in the y-axis of the graph of y = 2X?
[C3, C33, C34]

® How does changing the values of a and b for y = ab* transform its graph? [C34]
® Can | distinguish between a growth curve and a decay curve? [A5, €33, C34]

® Do | know how to determine the equation of an exponential function from a table?
From a graph? [C2, C11, C33, C34]

® Do | know how to use ExpReg on the graphing calculator to determine the equation
of an exponential function? [F1]

® From a table of values, do | know that the initial value a, in y = ab* is found where
the x-value is zero? [C33, C34]

® Do | know how to determine the horizontal asymptote of an exponential graph
from the corresponding function? [C33, C34]

® Do | know how to solve word problems using exponential equations and functions?
[A5, B12, C2, C25]

At
'.-1"!-!'
ab o
i
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on the provincial exam?

EXAMPLE 1
272 has the same value as

A =272 B. 30

() S

Ways of Thinking about Solutions

Can | rewrite the given expression in a different form and/or using a different base?
L
G G
Ny o &)

o
)

o<

27

-

EXAMPLE 2
What is one half of 220?

A 210 B. 120
C 21 D. 110
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Ways of Thinking about Solutions

How can | tell from the graph that the value is depreciating?
N/, /ulzuﬂﬁanj zméauf e /¥ﬁ4&uwuﬁab
/avu%y\,u D,
ﬁ(f W andLien MZ?

EXAMPLE 4
Which function is the same as y = 4(2)X?

A 4y =2X B. y=2x*2
C y=2% D. y=28X

Ways of Thinking about Solutions

How do | rewrite the given function?

= 4(2%)
=0l
=t a5 correct,

EXAMPLE 5
Which of the following functions forms a decay curve?

Ay =02 B. y=02
C y=2% D. -y=02%
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Ways of Thinking about Solutions

A decay curve has to have a base less than one but greater than zero.

Rook 2L Ue  valux (/‘é/“(wmm/fa&éf)
Waﬂuf /LLfLLcZwru (-X and '#)

A B, and D fave a yabue of ‘¢
belivere O and. | .and Zzimfmu 761»11'4—«//&/
du',a‘,t

A ' (

Aow o pfleclino oo U yrapew (77,
O foe a Wﬂmﬂoy'w(ﬁ)
':A’W’C’M ﬂND,a_A/ZAAwZZﬂN
o Ao Traged o o WWW
tut el &Masz.

B ow Tho govucl axdari,

EXAMPLE 6
Show how to evaluate the expression (4=1 + 372) + (80 + 4-%%) without the use of a calculator.

Ways of Thinking about Solutions
Any number to the exponent zero equals one.
Taking the reciprocal of a number changes the sign of its exponent.
A number with an exponent of % iS equivalent to the square root of that number.

Gy e ol

G+ %) = (V)

P00
AL 32 x BT IR
3¢ © 2 g 3 54
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EXAMPLE 7
Find the equation of the function represented in the following table. Do not use a
graphing calculator.

Yy 47 141 | 423 | 1269

Ways of Thinking about Solutions
How do | determine an equation from a table? What does it mean when the consecutive x-values
increase by 2 instead of 1?

Mace, it HAove a  common, Aals’?

Q.—f_ﬁ dineow U % valucs
t, ty Wmuﬁyilﬂu

1
|

w12 s @ %
417 4. [
3-3 w3 % a”’: 47
= #7(3)
/ R%:&

EXAMPLE 8
Joey has been collecting antique toy cars as an investment. The value, V, in dollars, of a toy car with
respect to its age, t, in years, can be modelled using the function

V=20)"
Which of the following statements is true?

A. The car’s initial value was $2 and it tripled in value every 4 years.

B. The car’s initial value was $3 and it doubled in value every 4 years.

C. The car’s initial value was $4 and it tripled in value every 2 years.

D. The car’s initial value was $2 and it quadrupled in value every 3 years.

NOVA SCOTIA EXAMINATIONS IN MATHEMATICS
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Ways of Thinking about Solutions

Do | understand what the values 2, 3, and 4 in the equation represent?

The wninls vadee iv B, b Suplad
iy ‘7‘#1,&/1.4/4/2{0/{ ) Lol

EXAMPLE 9

3120
=3~ isequal to
A. 3-120 B. 3119
C. 1120 D. 3117

Ways of Thinking about Solutions

Dividing exponential terms when bases are the same tells me to subtract their exponents.

3 [20 -1 - 3“‘1 } o B__: o c s

EXAMPLE 10
Which curve best describes the growth of bacteria that doubles every three hours, where t is time
in hours and A is amount of bacteria per square millimetre?

A A

i P—
-:._,—_:"
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Ways of Thinking about Solutions

How can | tell from the graph that the growth of bacteria doubles every three hours?

w [ ol L:0
ot t:3 ) Ue amsunl sl e Q.
8 w Mo s anturi

EXAMPLE 11
Two exponential functions, y; and ys, of the form y = ab*, are graphed:

Y1 Y2

\J

o

__’_,___.-"" N -H"——_

How do the values of a compare in the two functions?

A. The value of a for y; is greater than the value of a for y,.

B. The value of a for y, is less than the value of a for ys.

C. The value of a for y, is equal to the value of a for y.

D. For the function y;, 0 < a < 1, and for the function y,, a >1.

Ways of Thinking about Solutions

How can | tell from a graph what the a—values are?

The ‘o' valies are The 7-/‘/\/{/‘&90/5 - Jean sec
that 7 has a /)ljf)er‘ a-vake. .50_@ /A

Fhe andwer.
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Ways of Thinking about Solutions

EXAMPLE
What is the first step when solving an exponential equation?

(3™ ()

e
A lell‘,f ¢4’L06L//
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1. Evaluate the following without using a calculator. Show at least one intermediate step needed
to obtain your final answer.

s
'l ||p| i

RN
N

AN

‘ ||||Iii]

=
—
[
N

w
[/
.In“

wlro
I |

(b) (—64)
© (%)_
(d) 50+ (%)‘1

2. Without using the regression feature of the graphing calculator, determine the exponential
function represented by the data in the following table.

X -3 0 3 6
y B | 12 | 96 | 768

3. Try these questions from the text:
Page 121 (questions 38 and 39)
Page 123 (questions 50, 51, 52(a), (b), and (c))
Pages 129 and 130 (questions 9-12)
Pages 200 and 201 (questions 5-11)
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Exponential Growth

EXPONENTIAL EQUATIONS
AND EXPRESSIONS

PAGES 156 TO 170 IN THE TEXT

a b ||||'

 Quted
ULICE
| am expected to...

demonstrate an understanding of the role of real numbers in exponential and logarithmic
expressions and equations

demonstrate an understanding of the relationships that exist between arithmetic opera-
tions and the operations used when solving equations

apply real number exponents in expressions and equations

model real-world phenomena using exponential functions

describe and translate between graphical, tabular, written, and symbolic representations
of exponential and logarithmic relationships

solve exponential and logarithmic equations

solve problems involving exponential and logarithmic equations

What do | 1AVE to know? |

Do | know how to use my graphing calculator to solve an exponential equation? [C24]

Do | know how to solve an exponential equation algebraically? [C24, B1]

When | read a problem that talks about “half-life” or “doubling period,” what value should
| use for the common ratio, and what is a horizontal stretch? [C2, C11, G25]

® Do | know when to use the formula: A = P(1+ %)nt, and do | know what it represents?
[C2, C11, C25]

® Do | understand, when given a function f(x), that f(4) means “find y when x = 4™? [C24]

® Do | understand, when given a function f(x) and asked to find x when f(x) = 4, that this
means “find the x-value wheny = 4™ [C24]

A STUDY GUIDE FOR STUDENTS PREPARING FOR



® Can | apply my laws of exponents (found on page 167 of the text)?

® Do | know how to evaluate expressions with fractional exponents? [A5, B12]

WWhat MIGHT it look like.. ||
Wnat WGt look ke

on the provincial exam?

EXAMPLE 1
The price of a particular product doubles every 35 years. If the price of the product was $16.40 on
January 1, 1996, the price of the product will be $36.50 in the year

A. 2028
C. 2036

B. 2031
D. 2040

Ways of Thinking about Solutions

The answer can't be B because 2031 is 35 years after 1996 and therefore the amount should have
doubled, to $32.80. Since $36.50 is slightly more than $32.80, the correct answer must
be C or D. Maybe | should check with the formula.

36. 50 . l%b’
/6. %0

.13 - L

;3/5: “&’?.z L kSS
L : 35 lpgd23
v
- 70.5

Y3y

i 540,714/\,4/@.
The ek anawer w C.
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EXAMPLE 2
32 can be expressed as

3 2
A x? 3

Ways of Thinking about Solutions

How can | rewrite the given expression?

/ f
B

EXAMPLE 3

A general rule used by car dealerships is that the trade-in value of a car decreases by
30 per cent each year.

(@) Suppose you own a car whose trade-in value V is presently $3750. Determine how much

it will be worth one year from now, two years from now, three years from now.
Fill in the table of values:

T v
Time in Year's value of the car

1

2

3

A STUDY GUIDE FOR STUDENTS PREPARING FOR




Ways of Thinking about Solutions

What does it mean when a car depreciates by 30 per cent each year?

o nowr, L wdl, e
W?W #3150 | whiths o Fleds

'Q“W Wwwcw&wwu
707, ol B 2025, Lohiohs v £ 1837, 50

3 frany now, Wt be
J% 1/33730 kel v
£ /186, 15,

(b)  Without using the equation of the function, explain why an exponential function can
be used to represent the data in part (a).

Ways of Thinking about Solutions

How can | describe why an exponential function is the best model?
whied, wslid thns be a Lomoton @%
ke Waey) AA2T
WW e

(C)  Write the particular equation expressing the trade-in value V of your car as a function
of the number of years t from the present.

NOVA SCOTIA EXAMINATIONS IN MATHEMATICS
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Ways of Thinking about Solutions

How do | determine the values of aand b for this particular equation?

an ex}aonenyz;'a/ [Llnff/'on ool s //h E ab x
“a' j5s the initia) — S 3750
‘0" s the commen ratio — 0%

4 )

X is the Fime in years

/‘/ i #he new ua/uf; o[/u‘ L-yca/\é .

Jo, y= 3750(, 70)"

EXAMPLE 4
Find the roots of the following equations:

3 1 X-5
A J9=81%-5 B. (7) -5=3

Ways of Thinking about Solutions

To solve an exponential equation, simplify the equation in order to obtain one term on each side.
Then make the bases the same, if possible.

A. A. B.
g - g)3F g% - glx-l (.L)x'f_ 5 -3
3% o (3Y)d L = - )0 /
375 o g e @ q (/)“" - 8
A -
% = /2x- 20 /= /8x - 30 9 e
2 : 3Lx- Lo 3= J8x (22)"" = 2°
-3bx = - 42 3 - x -2x 4100 = 3
x = &2 _ 31 /8 - = -
3¢ I¥ 23:4_ 3’772

I,

N
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EXAMPLE 5
At the start of 2004, Jonathan invested $500 in a fund that doubles every seven years.
In what year will he have $1,200 in his account?

Ways of Thinking about Solutions

How do | model this situation using an exponential equation?

/'ni7l/'a/ amoun/L.'yiJ'oo /200 = 500(2)1/7
Common rafio —> 2 /200 - 2
3 500
new amount : 7 /200 2/7
cdouble every ?yza/\:; 2.4 = 2
e Can'7t ma/<e 7‘/){ Aqsej //fa dome ... t_/sarl?L ilv /:7_95
- Jog, 2.4
loj 2.4 = \\33 1)‘/7 ‘:;; - sz
log 24 = Llg2 op « = 7/ug 2.4
1 los 2.4 - % 0.-9 2
log 2 x : 8.8Y

o, 8.8 7ear\.‘) affer 200%, or /0 2072 .

—

OR
ua/'n_g C jrop/ﬁ s

} Yy
L;, i S;Diogj) find in Jerseetion /)Dl‘n%" ‘
L e

_ g4
‘=

fo 2004
+ g4

e 30 (2

1

!
]
i;_‘Al.n--“

I
L

A
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4
1. Which of the following is equal to a5 ?

5
1
A. 5/?‘ B. (04)
5
1
C. (a“) D. =
a4
2. Given 8(2) = 32 Which of the following statements is false?
A. 16X =32 B. 2¥*+3=32
C 2x=4 D. x = log, 4

3. A certain bacterial culture initially has 200 bacteria/cm? and the number
doubles every 20 minutes.

(a) Find the equation representing this situation.
(b)How many bacteria/cm? would there be after four hours?

4. Try these questions from the text:
Pages 158 to 161 (questions 8—19)
Pages 164 to 167 (questions 1-19, 21(a) and (b))
Pages 202 and 203 (questions 18-21 and 25-29)
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Exponential Growth

LOGARITHMS

PAGES 172 TO 182 IN THE TEXT

JUTCOINE
I am expected to...

demonstrate an understanding of the role of real numbers in exponential and logarithmic
expressions and equations

demonstrate an understanding of the relationships that exist between arithmetic operations
and the operations used when solving equations

apply real number exponents in expressions and equations
demonstrate an understanding of the properties of logarithms and apply them

describe and translate between graphical, tabular, written, and symbolic representations of
exponential and logarithmic relationships

demonstrate an understanding, algebraically and graphically, that the inverse of an expo-
nential function is a logarithmic function

solve exponential and logarithmic equations

solve problems involving exponential and logarithmic equations

Viidt Ul ifa J ROV

How are the graphs of y = b*and y = log,, x related? [C19]

When | look at a logarithmic curve in the form of y = log,, x, do | know that
(1, 0) is the x-intercept? Do | know that x = 0 is the vertical asymptote? [C11]

Do | know how to change an equation from exponential form to logarithmic
(often called “log”) form? [C19]

Can | convert an equation from log form to exponential form and vice versa? [A5, B13]

NOVA SCOTIA EXAMINATIONS IN MATHEMATICS




® Do | know how to solve exponential equations using logarithms? [A5, B12]

® Do | know how to use the laws of logarithms to express several log terms as
a single log term? [B13]

® Do | know how to solve logarithmic equations? [B13, C24]

® Do | understand that logs are used when | want to solve for a variable that is in the
exponent when | can’t make the bases the same? [C24, C25]

‘ | . “ | L [\ [\ C
on the provincial exam?

EXAMPLE 1
Marla is trying to determine the value for x in the equation 7X = 22.
Which one of the following will she use to obtain the value of x?

A. x=log (%) B. log;x = log22
log 22 __log7
¢ log 7 D x= log 22

Ways of Thinking about Solutions

& When the bases are different, how do | change the exponential equation to a log equation?

x= 7‘1‘1"’ fio—uﬂmddouw
o7y calecdalon ?
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EXAMPLE 2
2logz 9 + logz 7 — logz 3 expressed as a single logarithm is

A, 2log; 13 B. 2log; 21
C. logs 42 D. logs 189

Ways of Thinking about Solutions

To express as a single log, | have to use the laws of logarithms. Do | know how to do this?
A
Q‘Djaq = \033‘(
Mw\*:@l.j ‘e clz s Ve 1 s Hiew Alvide bj 2
G5 7)) 1
log, (—3") > log, (%4)
; D i comed

Now T have

So

EXAMPLE 3
Given logz x = -1, the value of x is

Ways of Thinking about Solutions
To solve this log equation, change it to an exponential equation.
2

- 7(: Y3 3 e Ao Laneed ATl
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EXAMPLE 4
A certain bacterial culture initially has 200 bacteria/cm?2 and the number doubles every 20

minutes. How long would it take until there are 1000 bacteria/cm?? Express your answer
accurate to two decimal places.

Ways of Thinking about Solutions

How do | model this situation using an exponential equation, and how do | solve this equation?

A 7K : -
/000 = J00 (2)70/70{"“‘[’[”7%””0
/m=l%°
o090 ;,
5. 27 e panend %MOZ/{M%
t . 5 mm{u,ﬂuw
20 j&% ﬁf&l&yw
t - Jdo 5
g

EXAMPLE 5

Solve the following equation for x. Express your answer accurate to two decimal places.

logs 2x —logs 3 = logs 4
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Ways of Thinking about Solutions
The first step in solving a log equation is to simplify both sides of the equation in order to obtain one
term on each side of the equation.

/cﬁ{?_):, - /?95. 3 = /?9_( Z/
/oﬁf 2:3& S /(295., 'l/

In -4
g_i - /2
w = le

1. The expression 3 log, (3) + log, (5) —log, (9) is equivalent to
A. 3 log, (%) B. 3 log, (1)

C. 3log, (5) D. log, (15)

2. |If Iogx9=%,thenxis equal to
A3 B. 45
C 18 D. 81

3. Solve for x:
(@ x=3log312
(b) log,34=0.5
(€ log (x) + log(x—1) =2 log (x)

4. Try these questions from the text:
Pages 174 and 175 (questions 11-15)
Pages 177 and 178 (questions 1-6)
Pages 180 to 182 (questions 9-14 and 17)
Pages 203 and 204 (questions 33-39)
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Exponential Growth

TRANSFORMATIONS

PAGES 143 TO 155 IN THE TEXT

In addition to Mathematics 12 outcomes, you are also responsible for:

A
uIcomes

| am expected to...

describe and interpret domains and ranges using set notation

model real-world phenomena using exponential functions

sketch tables and graphs from descriptions and collected data

describe and translate between graphical, tabular, written, and symbolic representations
of exponential and logarithmic relationships

solve exponential and logarithmic equations

analyse and describe the characteristics of exponential and logarithmic functions

demonstrate an understanding of how the parameter changes affect the graphs of
exponential functions

000 6000

@[Anv] write exponential functions in transformational form and as mapping rules to
visualize and sketch graphs

\Whatdo | A\ to know

® Can | describe the transformations on the function y = abX in words and in a
mapping rule. [C33, C34, C35Apv]

® (Can | explain how each of the transformations is identifiable in the function
Ay - C) = baseBx-D)? [C33, €34, C35ADv]

® Can | write an exponential function in transformational form, given the transformations in
words, in a mapping rule, or from a graph? [C34, C35A0v]

® Can | rewrite an exponential function into transformational form? [G11, C35Apv]

A STUDY GUIDE FOR STUDENTS PREPARING FOR



® C(Can | sketch graphs of exponential functions using transformations? [G3, G11, C35Anv]
® Can | complete a table of values using a mapping rule? [G11]

® Can | sketch a graph by determining how the transformations affect the focal point, (0, 1), and
then using the patterns to the right and left of the focal point? [C3, C33, C34, C35A0v]

® Do | understand how the range of the function is related to the asymptote? [A7, C33]

® (Can | find the equation of the horizontal asymptote and do | understand what it
represents in the context of a word problem? [C3, C33]

® Do | understand when a function is either increasing and/or decreasing? [C33]

® Can | use a graph to solve exponential equations? [C11, C33, C24]

(Pan | O these on mv own? |
"“ Il"! al IIIIl!! lIIIII!! (1] :;-!.--:r'.!::-- N m " I |, I[ |||II!51| ll"

. The function f (x) = 12(2)2+1) + 3 has a horizontal asymptote at
A y=3 B. y=-3
C. y=12 D. y=-1

For the exponential function y = —4(3)**2 -1, do the following:
(a) Write the equation in transformational form.

(b) Find the coordinates of the focal point.

(c) State the equation of the horizontal asymptote.

(d) State the domain and range.

. Try these questions from the text:
Pages 143 to 162

NOVA SCOTIA EXAMINATIONS IN MATHEMATICS




Exponential Growth

SOLVING EXPONENTIAL
EQUATIONS AND SIMPLIFYING
EXPONENTIAL EXPRESSIONS

PAGES 161 TO 171 IN THE TEXT

Note: Although there are no new outcomes to be achieved, there is a difference in the
types of questions you may be asked, and in the sophistication of your responses.

R e

qutc
Uuiceo
| am expected to...

demonstrate an understanding of the role of real numbers in exponential and

logarithmic expressions and equations

demonstrate an understanding of the relationships that exist between arithmetic
operations and the operations used when solving equations

apply real number exponents in expressions and equations
model real-world phenomena using exponential functions

describe and translate between graphical, tabular, written, and symbolic representations
of exponential and logarithmic relationships

solve exponential and logarithmic equations

solve problems involving exponential and logarithmic equations

T e Jl
What do | LAV to know?

® Do | know how to solve a system of equations when the x- and J-variables are
in the exponent? [C24]

00 6060 0 O

® (Can | recognize and solve exponential equations that are in the form of a quadratic equation
(e.9., (402 - 17(4) + 16 = 0)? [C24]

A STUDY GUIDE FOR STUDENTS PREPARING FOR



® (Can | factor a term in the form of bX*Y to get two factors bY(b¥)? [AS, B12]

® Can | simplify, factor, prove, and evaluate exponential expressions and equations
(as required for the questions on page 171 in the text)? [AS, B12]

® Can | solve more complex logarithmic equations (like those on page 175 in the text)? [C24]

L Can | D0 these on my own?

Try these questions from the text:
Page 167 (question 21 parts ¢ to Q)
Page 171 (questions 27-36)

Page 202 (questions 22 and 23)
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Exponential Growth

LOGARITHMS

PAGES 17570 188 IN THE TEXT

00 6 6 66 0 0

Note: Although there are no new outcomes to be achieved, there is a difference in the
types of questions you may be asked, and in the sophistication of your responses.

e

R
JUICO
| am expected to...

demonstrate an understanding of the role of real numbers in exponential and logarithmic
expressions and equations

demonstrate an understanding of the relationships that exist between arithmetic opera-
tions and the operations used when solving equations

apply real number exponents in expressions and equations

demonstrate an understanding of the properties of logarithms and apply them

describe and translate between graphical, tabular, written, and symbolic representations

of exponential and logarithmic relationships

demonstrate an understanding, algebraically and graphically, that the inverse of an expo-
nential function is a logarithmic function

solve exponential and logarithmic equations

solve problems involving exponential and logarithmic equations

A STUDY GUIDE FOR STUDENTS PREPARING FOR



Whatdo| .\ toknow?

® Can | apply the logarithm laws when simplifying expressions and solving equations?
[A5, B12, B13, C24]

® Do | know that, when solving an exponential equation and the bases cannot be made
the same, logs are required to find the value for the variable in the exponent? [C24]

® Can | solve problems that involve equations that are logarithmic, or equations that
require logarithms to solve? [C24, C25]

Can | D0 these on my own?

Try these questions from the text:
Page 204 (questions 40-45)
Page 184 to 188 (questions 29-43)
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Circle Geometry

THINGS TO REMEMBER

Circle Properties

y 180-x

Advanced Math 12

N

~_

Advanced Math 12 Advanced Math 12

“C” Isthe centre of the
circle.




Circle Geomet[y

CHORD PROPERTI

PAGES 206 TO 212 IN THE TEXT

Outcomes LD

| am expected to...

develop and apply formulas for distance and midpoint

apply properties of circles

apply inductive reasoning to make conjectures in geometric situations

investigate, make, and prove conjectures associated with chord properties of circles

demonstrate an understanding of the concept of converse
J

What do | AV to know?

® Do | know that when | explore properties and make conclusions, | am making a
conjecture (using inductive reasoning)? [E5, E7]

® Do | know that the diameter of the circle is its longest chord? [E7]
® Do | know how to locate the diameter of a circle and the center of a circle? [E4, E7]

® Can | show that when | draw the perpendicular bisectors of two chords in a circle,
they will intersect at the centre of the circle? [E7]

® How do | know that equal chords are the same distance from the centre of a circle? [E7]

® Do | know how to write the converse of “if P, then Q" ? [E12]

® \When a statement and its converse are true, can | write them using “iff’( if and only if)? [E12]
® Do | know that if a statement is true, its converse is not necessarily true? [E12]

® Can | solve problems using properties of chords? [E4]

® (Can | use distance and midpoint formulas in proofs? [D1]

NOVA SCOTIA EXAMINATIONS IN MATHEMATICS
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| What M1

e

il
Il

tlook like...

on the provincial exam?

EXAMPLE

1

In which diagram is there enough evidence to conclude that the line segment AB passes through

the centre of the circle?

A
A. B:; B. g/“
B A
C. D. -
| @
A v

Ways of Thinking about Solutions

What chord property must | use to solve the problem?
HearaZors % o ehoro | Lhow L muld
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EXAMPLE 2
Given two chords, AB and CD , with points A(-2, -4), B(5, -5), ((-1, 3), and D(6, 2)
on a circle with centre (2, -1):

(@) Show algebraically that the distance from the midpoint of chord 'AB to the centre of the circle
is the same as the distance from the midpoint of chord CD to the centre of the circle.

D6, 2)

Ways of Thinking about Solutions

Do | know the midpoint and distance formulas?

In. Mudpsinl : mudpt o;//m;{-_,zfl—_zg)://j/-%ﬁ
‘Midpt of ZTJ/.%L%: . (25 25)

d= Via-157 (. %6)* Va5

Deilanee nidprint of E)W egusl

A - /Q—J_5)‘(_/-J‘5).L 3 ///—02——5_——"//—/%/
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(b) (i) Complete this theorem: If two chords on a circle are equidistant from the centre of the
circle, then ...

Ways of Thinking about Solutions

Can | remember the properties of chords?

%MWWW

(ii) State the converse of the theorem in part (i).

If Hoo oraiena Cirele are o jrumf
then 7%{7 are e_7wo’/47[an/' Lrom Fhe cen/re

EXAMPLE 3
For the following diagram, explain how you would find the centre of the circle, given the

coordinates of A, B, C, and D. y

A
B
Al D
N/
C

Ways of Thinking about Solutions

What properties of chords should | use to find the centre of a circle?

choio  AB and CD. Fumd lhe _L
beicclow of stack chord . Jhe ponl of
W#MQ_L%WW,&UMJ
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or

Jrlt A onlo ﬁ,m%a{o(,md/ oracr
o linw on The Ltuade. Fld C onds D,
WWW@WW%W.

Can | DO these on my own?

From the text, try these questions:
Page 209 (question 10)

Page 295 (question 4) \\

Y/ S
./ A
S/ A
P/ A
VS

74 A
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B Circle Geomet

COORDINATE GEOMETRY

PAGES 222 TO 231 IN THE TEXT

Qutcomes ||
‘||||||||| | Ilr! Illl| ll |I| I " ”l II'

| am expected to...

L

develop and apply formulas for distance and midpoint
apply properties of circles
apply inductive reasoning to make conjectures in geometric situations

investigate, make, and prove conjectures associated with chord properties of circles

\What do | 1AVE fo know? |

Can | write proofs involving the manipulation of coordinates? [E4, E7]

I

o

\}

® C(an | solve problems involving slope, distance, and midpoint by using coordinates? [E7, D1]

® (Can | use the property of equal slopes to prove that two lines (two sides of a figure)
are parallel? [E7, E11]

® (Can | use the property of negative reciprocal to prove that two lines (two sides of a figure)
are perpendicular? [E7]

® Do | know that the equation of a circle with radius r and its centre at the origin is
x2 +y2=r27 [E4, ET]

|
I

!

A STUDY GUIDE FOR STUDENTS PREPARING FOR



What MIGHT it Jook like ||

( !Iu‘ !1 Nal ||! ‘!ﬂ (5 !!!! HARE vl Ko !!m! |||, “« s |'

on the provincial exam? e
EXAMPLE 1 E":_Z’/_

Given the points A and B as shown, which expression will calculate length AB?

y
A(l, 6)

Y

A
e

* B(, -2)

A \/(1—6)2+(5+2)2 B. \/(1+5)2+(6—2)2

C. \J(L-52+(6+27 D. \/(6+12+(2+57

Ways of Thinking about Solutions

Should | use the distance formula?

D - -5 (b=
-5 lery®

C o ok
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EXAMPLE
What is the distance in centimetres between the chord and the centre of the circle if the

<— 10 cm

Tem< radoa

S5cm

c. 51

How can | use the given information (radius and chord length) to solve this?
A STUDY GUIDE FOR STUDENTS PREPARING FOR

radius of the circle is 7 cm?
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EXAMPLE 3
A, B, C, and D are four points on a circle:

y
A
c(-2,2 ‘>B\(4, 2)
A(-3,-5) D (5, -5)

(@) Prove that AB and CD are the same length.

Ways of Thinking about Solutions

Finding the length means using the distance formula.

AB = \/?3-#)"«(—3"2)& = J 49 4 49 =J7g ]
eo = {Tamsy s (e = Jdasms = (48

A3 = ¢D.

(b) Do the chords bisect each other? Justify your answer.

Ways of Thinking about Solutions

What does “bisect” signify?
) /l75 : (' 3+4 -5+ ). {l -
W 2 Tz ) 4’ }l ) ol Ue

Aame

Mudpoent TD _-{—g_@:) :Z;i){i —g)

. 5 vy {/

AB ond TD do nol Tutel raeh slep,
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EXAMPLE 4

Line L4, with the equationy = - ix - i, intersects the chord AB, with points

3 3
A(3, -7) and B(5, -1).

Prove that L, is perpendicular to AB .

Ways of Thinking about Solutions

How can | use slopes to determine that lines are perpendicular?

Blops- of Lz /5

(Can | DO these on my own?

From the text, try the following questions:
Page 231 (questions 31, 32, 34, and 35)
Page 295 (questions 6 to 9)
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Circle Geomet[y

CHORD PROPERTI
AND PROOFS

PAGES 206 TO 231 IN THE TEXT

In addition to Mathematics 12 outcomes, you are also responsible for:

L
Miteames T

| am expected to...

write proofs using various axiomatic systems and assess the validity of
deductive arguments

L o Jil
Whatdo | AUC to know?

® Do | know that deductive proof involves drawing valid conclusion from
establish facts. [E11]

® Do | know that SSS, SAS, ASA, SAA, and HL are sufficient conditions to prove
that two triangles are congruent? [E11]

® C(Can | read a proof written by someone else and determine if each of the steps
in the proof are correct? [E11]

® Do | know that CPCTC stands for “corresponding parts of congruent triangles
are congruent™ [E11]

NOVA SCOTIA EXAMINATIONS IN MATHEMATICS




UWhat \\CL it ook dike

on the provincial exam?
EXAMPLE 1

Which of the following pairs of triangles have sufficient information given to be proven
congruent?

JAVANNYS

Ways of Thinking about Solutions

Which congruence theorem can | use to prove the congruency of triangles?

B) - Mokt _/?//WW 7l mm |
AN ﬁ?/{’/ow[’ﬁl A A0

D)- JIA - sl a /Coﬂ?/uum,ud AL psrem)
" CA/ %MW
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EXAMPLE 2
Given that D is the midpoint of AB and £ A =2 B, you want to prove that triangles
ACD and BCD are congruent.

A D B

Here are the first three statements of the proof:
CD = CD (common side)
AD = BD (definition of midpoint)
< A=.B (given)

Which of the following would be the next statement to the proof?

A. AD=(D B. AC=BC
C LA=2B D. AD = %AB

Ways of Thinking about Solutions

To prove the two triangles congruent, what am | missing?

ac - BC WW

B8 i Mo fetruel anewrt
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EXAMPLE 3
Given: and . EDF = ~ZFED and FB = FC, prove that DB = EC.

A

Ways of Thinking about Solutions

DB and EC—beIong to triangles DBC and ECB, respectively.
Can | prove that these triangles are congruent?

L EDF Z LFED Yewvers

O DEF Ly an ddeded) D L&/ho}iWA
DF = FE doteded) A
veTBE Aegrmend add Leon
LDCB X LEBC Vercedeo A FC-FB
BC : BC. Comomon, xrde
ADes T AEBRC SAL

DA = EC CPCTC/

A STUDY GUIDE FOR

STUDENTS PREPARING FOR



or

DB and EC belong to triangles DFBand EFC, respectively.
Can | prove that these triangles are congruent?

LEDF & LFED (Sewend
ODEF v an wowedi) i (Mefn of dioteled) A)
. DF - EF ( H)
LDFB & LEFC (x Lhearms)
FR - FC. (Alwen )
S ADFEA EAEFC (SAS.)
DB s EC (CrPcTC)

(Can'| )0 these on mv own? |
'||l ||'!!!-1:. !| IIII!!! l!IIIl!! U ”” ||_l I| ||||.“A 0 "‘.lll ||||||551| ||"

Try these questions from the text:
Page 217 (questions 25 and 26)
Page 219 (question 29)

Page 220 (question 32)

NOVA SCOTIA EXAMINATIONS IN MATHEMATICS




Circle Geometry

ANGLES IN A CIRCLE

PAGES 232 TO 243 IN THE TEXT

A

| MNE
| am expected to...

‘3 apply properties of circles

@ apply inductive reasoning to make conjectures in geometric situations

pv] investigate, make, and prove conjectures associated with angle relationships
in circles

write proofs using various axiomatic systems and assess the validity of deductive
arguments

‘I! g |‘||‘

® Do | know what a central angle and an inscribed angle are and how
they are related? [E4, E8ADV]

® Do | know that an arc may be measured in degrees, like an angle? [E4]

® Do | know that the measure of an arc in a circle is equivalent to the measure
of the central angle that it subtends? [E4, E8Apv]

® Do | know that arcs and chords can also subtend inscribed angles? [E4]

® Do | know that all inscribed angles subtended by the same arc are
congruent? [ES, E8ADv]

® Do | know that if a chord is a diameter then it subtends an inscribed angle,
whose measure is 90°? [E5, E8 Abv]

® Do | know that a cyclic quadrilateral is a quadrilateral inscribed in a circle,
and that its opposite angles are supplementary? [E5, E8 Abv]

A STUDY GUIDE FOR STUDENTS PREPARING FOR




What VICH it look like...

on the provincial exam?

EXAMPLE 1
Given £ FBC = 509 what is the measure of £ E?

A. 30° B. 40°
C. 50° D. 60°

Ways of Thinking about Solutions

Since £ E and the central angle are both subtended by the same arc, can the information
help me find the measure of the central angle?

)éfwuw /[ FBC ww ’ Lo 50 ACFB)
o ales’ L b 50° (wwrvdded) 2 ')
T/MWL/ %{Zo, LE v an M%m
o The conlral “c”

[ E wmeaqures ZLM%Z;OO_ / ﬁw%mu
B v Ao ANLLEN.
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EXAMPLE 2
For this diagram, which of the following statements is correct?

B
A

S

A. ZAOC=-ABC B. m-ZAOC+ m. ABC =180°

C. LAEC =ZLADC D. L0AB =0(B

Ways of Thinking about Solutions

Examine the choices to seg if | can apply any of the circle properties.

C Yt e  covuel  Weowar Hhirs
“ng AC - ard JZ,{L/Z are bl

ndernidcols

EXAMPLE 3
Given that C is the centre of the circle, which one of the following statements is true?

A STUDY GUIDE FOR STUDENTS PREPARING FOR




A. £ CAE = /BDE B. L ABD = ~AED

C. AE=BD D. AB = DE

Ways of Thinking about Solutions

Examine the choices to see if | can apply any of the circle properties.

LAED ond 7 AED g aib
Yo Lhey Ylracndeds qnolew aulipnbid
‘ AL~ funelen) | Ao Shwal U
[m?/uuml B ouw ho Cdrireel agewrh.

21 JU Tnese on myv own

Try these questions from the text:
Page 237 (questions 16 and 17)
Pages 238 and 239 (question 18)
Page 241 (question 33)
Pages 242 and 243 (questions 35 — 46)

NOVA SCOTIA EXAMINATIONS IN MATHEMATICS




A

Circle Geometry

EQUATIONS OF CIRCLES
AND ELLIPSES

PAGES 252 TO 267 IN THE TEXT

I am expected to...

e 9
D-

write the equations of circles and ellipses in transformational form and as
mapping rules to visualize and sketch graphs

analyse and translate between symbolic, graphical, and written
representations of circles and ellipses

translate between different forms of equations of circles and ellipses

solve problems involving the equations and characteristics of
circles and ellipses

demonstrate the transformational relationship between the circle and the
ellipse

Viigal O( 14 g RHUWV

® (an | explain why a circle is not a function? [E3apv]

® Given the equation of a circle or an ellipse in general form, can | rewrite it in
transformational or standard form? [E14apv]

® Given the equation of an ellipse or circle in transformational or standard form,
can | describe the transformations of x2 + y2 = 1 in words and as
mapping rules? [E3Apv]

® Given the equation or mapping rule of a circle or an ellipse, can | sketch
its graph? [E3Apv]

A STUDY GUIDE FOR STUDENTS PREPARING FOR



® (an | determine the equation of a circle or an ellipse given its graph or its
mapping rule? [E3apv, E13apv]

® (Can | rewrite the equation of a circle or an ellipse from transformational or
standard form to general form? [E14apv]

® Do | know how to identify when an equation represents a circle or an ellipse? [E16abv]
® (Can | determine the major and minor axes of an ellipse? [E16Aov, E15A0v]

® (Can | solve problems involving circles and ellipses? [E15aov]

What UiCH it jook like.

on the provincial exam?

EXAMPLE 1
Determine the centre and radius of the circle defined by this equation:
X2+y2-4x+6y—-12=0

Ways of Thinking about Solutions

To determine the centre and the radius, | need to rewrite the equation in standard or
transformational form.

254y *y +é = /2
z°- ﬁ‘va’?‘ é7 +9= 12 +4+9
(x -2+ g +3 T-25
Do, He cen,{-re_ /5 (;? i)ma@ﬁadud I's A&

YR ﬂ,;,’
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EXAMPLE 2
In an ellipse, A(-7, 2) and B(3, 2) are the endpoints of the major axis and C(-2, -1)
and D(-2, 5) are the endpoints of the minor axis. Determine the equation of the
ellipse in general form.

Ways of Thinking about Solutions
Am | able to determine the lengths of the minor and major axes and the coordinates of the centre
of the ellipse by examining the given coordinates?

L can tell from the co-ordinates That
“he major ax:s AB s horizental .and [0 wunits

long. TRe vertical axis |s & units long. The

C&/LZ’C would be at The midpoint o A8 or CD,
(-2,2). .

Do, the cla,afmn_ of He ellpse” —L(ﬂ‘f'g?] [J- (j 2)] = |

Now, #rans [ate Z%Jenera.ﬁ form: == Ly +%¢+4)+,L@ -¢ +‘z‘)'

223
/-/ul%zp/j all terms bj LCD 225 él (x4 +4)) gL_(j @w)) //x,l)b

P T +3¢by +36 4254 *~(004 +06 = 325 —> P 425, 2156y -/00y-87=0
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EXAMPLE 3
Which of the following equations represents this graph?

Fayeiitiaseys
(3. -
HE2E]
=
-
o
- wl R ol - al g ol
Ale+2] o-D] =4 B k-2, |o+D |-,
2 | |5 | L 5 1 L2
- al m o2 - nl g ol
C le+2] , [u-0]-, D=2, Jv+D]=y
10 | [ 4] [ 25 ] L 4

Ways of Thinking about Solutions

First I should determine the coordinates of the centre and the length of the minor and major axes.

He tnbe faw Lo be (9,71) a0 lot
%(Z-ﬂm(g;w) Gl B o
D

Locdd_ I Lol | T Ae “0174@
Apidd) wa) /0 wendde  The WYy
Ceirect ' W

EXAMPLE 4

Write 25x2 + 4y2 + 150x — 16y + 141 =0 in
transformational form and sketch its graph.
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Ways of Thinking about Solutions

How do | rewrite this equation in transformational form?

D5y s 1502 + 4 =t = ~1¥
9?5(1,"#62, + )71‘-9‘( -4y + )= -1¥#/
T ) +¢( —‘/ +¥) = 1] £225 + 16

25(x+3)° + #( yuo?) “/ao

/o0
(x+3) +(Z-.2) =/
4 25

EXAMPLE 5
State the domain and range for 9(x — 1)2 + 16(y + 2)2 = 144
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Ways of Thinking about Solutions

To state the domain and range | should rewrite the equation in transformational form.

9 (x-1)% >
14Y 7 +7ﬁ%‘/?%JJ

/ *
7;(7(-,) fT/(W;L)&: /

Ly - i &
;(Z»’J\*[?ﬁ:/
EP TN

el at (1,-2)
Nite - ﬁi/udu i de o wnedol e W

Domacw : /-¥=x=/+9 |, X €R .:ﬂmm/:"-‘lfé’, XeR
flamge :"2-3sg <-2. 3 gER Renge 554 =/ 4€R

Can | D0 these on my own? .
WWM”| MMunﬁﬁhwlLk.dAMu )

Try these questions from the text:
Page 255 to 257 (questions 7-20)
Pages 259 and 260 (questions 23-30)
Page 261 (question 35 and 36)
Pages 263 and 264 (questions 37-41)
Pages 265 and 267 (questions 42-51)
Pages 297 and 298 (questions 22-28)
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Probability

EXPERI
THEORETICAL PROBABILITIES

PAGES 300 TO 306 IN THE TEXT

Duteamas |11

| am expected to...

4"

" g

W

\ g
\::i-

\
\
‘

demonstrate an understanding that determining probability requires the
quantifying of outcomes

What do | AV to know?

® Do | understand that probability is the ratio of the number of ways of achieving
success to the total number of possible outcomes? [G2]

r|‘!

il

® Do | understand that the complement of an event X is “event X not occurring,”
symbolized as X ? [G2]

® Do | understand the difference between experimental probability and theoretical
probability? [G2]

What 1Lt ook Jike

on the provincial exam? —

Al

‘\
|

il

[
!

EXAMPLE 1
Two students, Peter and Ken, performed a simulation that

1
—_ 7
I
|
|
|
I
I
I
- . . . |
involved tossing three coins. They recorded the number of Trial 1 HHT .
, e P P
heads and tails from 10 trials. According to the results, Trial 2 HHT S
: ——————————— |
shown in the table below, what is the experimental Trial 3 HTT ——————————
- . . . Trial 4 HHH |
probablllty of gettlng three heads on a Slngle trial? T ——
Trial 5 HTT |
I
Trial © THH s
I
Trial 7 HTH e —
|
Trial B TTT |
I
H |
Trial 9 HHH — Y-"
Trial 10 TTT P

-

I - L_mw
I - 4
I - ]
I -
I Y
I r ma

p-
N
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\
‘4
\

!
P
N

- 7 4
I = 17 77
I

AN

i
;hllml
R

|

e
. T
i
II [ Y

Ways of Thinking about Solutions

Experimental probability is determined based on observed results.

Sl avins fo Duald, L of itk
Lol wps Aeade - bty A
WW%M
Aow P(3H)-L =_/
/0 5

Can | DO these on my ow

el

Try these questions from the text:
Pages 301 and 302 (questions 3, 4, and 11)
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Probability

COUNTING AND PROBABILITY

PAGES 307 TO 319 IN THE TEXT

I am expected to...

demonstrate an understanding that determining probability requires the quantifying
of outcomes

demonstrate an understanding of the fundamental counting principle and apply
it to calculate probabilities of dependent and independent events

I'AF 1y 1A J RNIUV

® Do | know that the “sample space” is the total number of possible outcomes? [G2]

® Do | know that given P(A) and P(B), the Fundamental Counting Principle states that
P(A and B) = P(A) x P(B), and that this is often referred to as the Multiplication Principle? [G3]

® Do | understand the difference between P(A and B) and P(A or B)? [G3]

® Do | understand when events are mutually exclusive? [G3]

® Do | understand that P(A or B) = P(A) + P(B), if A and B are mutually exclusive events? [G3]
® (an | explain the difference between dependent and independent events? [G3]

® When appropriate, can | organize given information within a Venn diagram? [G3]

® Do | understand that P(A or B) is determined by P(A) + P(B) — P(A and B) when
events are not mutually exclusive? [G3]
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Probability

| What \CLT it Jook dike

on the provincial exam?

EXAMPLE 1
If we shuffle a standard deck of 52 cards and randomly select one card, what is the probability of
selecting a king or a queen?

1 1
A'W B 26

1 2
C 13 D. 73

Ways of Thinking about Solutions

This is simple probability using the word “or,” and the two events are mutually exclusive.

, L,WW(’Y{{L‘”-“J&

P(K -+ carndy
5 Aolal A 7
P(Q): £
5L

Ao P(kor @ = 4

(G
?._4
u
=
(@
?\)

b D
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Probability

EXAMPLE 2
Two coins and one die are simultaneously tossed on a table. What is the probability of obtaining
two heads and a 6?

5 1
AT B 21
1 1
C'T D. T

Ways of Thinking about Solutions

How many different ways can two coins land?

tuw coims coam Lond HE, BT, TH, TT. @nly one
of Hhuse L HH, s PaH) = et
Hao die s b facta | Ple)= Ve

S P@Hond b)= L. = 1 po B e covuck
4 6 24

EXAMPLE 3
Some students were asked whether they watch hockey or football. The results are shown in the
following Venn diagram:

—_— — —_—

Watch hockey  Watch football

4 7 N

(20 (5) 15 )

n,

\““*xh,_ﬁ_______,\}:;___ B ’///“
10

What is the probability that a person chosen at random watches hockey?

2 1
A. = B. -
4 3
“ 5 )
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Ways of Thinking about Solutions
Altogether, 50 students were asked, and 25 students watch hockey, so ...

P(H) ~ _%‘_5: :L
50 oL

Jo B v covut

Can | DO these on my own?2

1. Two boxes contain marbles. The first contains five red marbles and three white marbles.
The second box contains four black marbles and seven green marbles. One marble is chosen
at random from each box. What is the probability that a white and a black marble will

be chosen?

A 3 B. 33
22 32

c. L D. 12
12 25

2. Mr. Smith has three pairs of black pants and two pairs of grey pants in the first drawer of his
dresser. In the second drawer, he has one white shirt and four multi-coloured shirts. He gets
up late one morning and without looking quickly grabs a pair of pants from the first drawer
and a shirt from the second drawer. What is the probability that he grabs a pair of black
pants and a white shirt?

B.

C.

D.

N
oo e

4
25

2
5
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3. Two dice are rolled. What is the probability that both dice will land on the same number?

>

B.

®|H (o':,’||—\

1
18

1
2

o

D.

4. Forty people were surveyed and asked whether they use a mechanical pencil or a wooden
pencil when writing a test. The results are shown in the Venn diagram below.

Use a mechanical Use a wooden
pencil pencil

©

4

What is the probability that one person chosen at random does not use a wooden pencil
when writing a test?

A 9 B. 4
20 5
7 11
) D 25

5. Try these questions from the text.
Page 310 (questions 10, 11, and 12)
Page 312 (questions 21 to 24)

Page 313 (questions 25 to 28)
Page 314 (questions 30 and 31)

i
o
b o
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Probability

COMBINATIONS
AND PERMUTATIONS

PAGES 327 TO 339 IN THE TEXT

v
- JUTICOME
.

N | am expected to...

develop an understanding of factorial notation and apply it to calculating permutations
and combinations

determine probabilities using permutations and combinations
distinguish between situations that involve combinations and permutations

develop and apply formulas to evaluate permutations and combinations

Vildl Ul il J AUV

® When | read a problem can | identify if the situation requires combinations
or permutations? [G7]

® Do | know when and how to use factorial notation? [A6]
1
® Do | know when and how to apply the formula P, = (nli—r)‘ ? [A6, G8]
I
® Do | know when and how to apply the formula for ,C, = r’(nn——r)' ? [A6, G8]

’.\\ ‘I‘ “ |

on the provincial exam?

EXAMPLE 1
Tim and Rebecca are the first and second students in a line of seven students waiting to buy
tickets for a concert. The number of different orders in which the remainder of the students
can line up behind them is

A. 5! B. 7!
C. 5! D. /!
(512" 5
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Ways of Thinking about Solutions

Since Tim and Rebecca are already in line to buy tickets, there are only five people to
line up behind them.

EXAMPLE 2
Use a real-life example to explain why ,C, = 1.

Ways of Thinking about Solutions

4C4 means “how many different ways are there for choosing four items out of four items, if the order
doesn't matter?” Now, in real life ...
A peraa atore oo a pade e H-tm pazca
It is pee , how vty waga e e tw CJ’w&ﬁ%
From He A4 Hrplulv‘«% 4_15/ S wandt all L/LHILDFFL’VL?A/ .
Inine (o by ot way & choose . .. "givz me all
4+ +D73 P/WL?/& 5

EXAMPLE 3
A class is made up of 13 girls and 9 boys. If five students are chosen at random, what is the
probability that five girls will be chosen?
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Ways of Thinking about Solutions
There are 22 students altogether. Probability is the ratio of the number of students chosen to
the total number of students. Is the number chosen a combination or a permutation?

W¢MW:>5MW
/&W*Z_&J Mo/wm Aoes Hsl
Ma,WMLaZZMJ .
Lrlal, tumbi of ouliomen) =7 5 urtll Ut Aawere

f/zmru 2 aleedindy

Ao 5Cy . 1257 - 0. 05
2.Cs 26 334

NN/ Wtzwf»j, Horaing ﬁ’f%@am’

or

/3« /2 4 I o« 10 X 9 - /g7 <005
a2z & 20 /9 /y ¢ 334

}

EXAMPLE 4

The value of 1000! is
999!

A 1 B. 1.001

C. 1000 D. undefined
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Ways of Thinking about Solutions

My calculator gives me an error message, so the numbers must be too big.
Il have to do this one by hand.

voo! - j0oo0x4a9x99%x ... X1 = 1000
9991 499x998X9G 7X ... X

A0 C Lo Hwe annawer

Can | DO these on my own?

1. You want to put eight different books on a shelf, side by side. In how many ways can
these books be arranged?

A 8! B. 8 A\

21
C. gPy D. oCq

2. Peter, Mary, and Susan are part of a group of 10 people. An executive consisting of Peter as the
president, Mary as the treasurer, and Susan as the secretary could be formed from this group.
What is the probability this executive will be formed?

A 1 B. _1
10P3 10C3
c. .3 D. .3
10P3 10C3

3. A prom committee of seven will be chosen from 10 boys and 12 girls. Calculate the probability
that the committee will be made up of all girls.

4. Use a real-life example to explain why 5C, = 5Cs.

5. Try these questions from the text:
Pages 330 and 331 (questions 8, 9, and 11)
Page 332 (questions 16 and 17)
Pages 333 and 334 (questions 21-26)
Page 363 (questions 12-16)
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Probabili

CONDITIONAL PROBABILITY

PAGES 319 TO 326 IN THE TEXT

e
duicomes

| am expected to...

@nv] determine conditional probabilities

/E to know? |

Whatdo] .~

@® Do | understand what conditional probability means? [G5Abv]

kl

® Do | know that P(A]B) is used to denote conditional probability and that it means “
the probability of event B occurring, given A"? [G5ADV]

® Can | apply the formula P(A|B) =P(A and B) ? [G5Apv]
P(B)

pl !IIIII“I |I|“||||FI|||||{||||II |!||II|| |||||I|||||'llll||lllll | l | ||I||!||||| |I||||II ||||||||II ||||I|“II|II||||| ||I||||I| | |II
"||||l‘ \lﬁ'!|:1:i I| |III!!! !!III!! 1] ”” !ll, !| I| I !lh'.l;

1. Asurvey of 352 people resulted in this table:

n?

beveloped a cold bl m‘rmd:jmhp 2 Tota
Took vitamins
regularly 46 139 185
Brid not take vitoming
Hcilor 115 52 167
Total 1] 191 352

What is the probability that a person who developed a cold did not take vitamins regularly?

A. 115/352 B. 115/167
C. 46/352 D. 115/161
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2. The following table shows data about students enrolled in grade 12 math at a high school:
Assume that event A is “enrolled in Advanced Math 12” and event B is “male.” Calculate

4.

(@) P(A)
(b) PEIA
Sex Advanced Math 12 Total
Math 12
Male 63 85 148
Female 72 112 184
Totadl 135 197 332

Use the following chart to calculate the probability of a male being blonde.
Elande Mot blande

Ml e 15 1B

Female g 12

Try these questions from the text:
Pages 320 and 321 (questions 47-50)
Page 362 (question 10)
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Good Luck on the Exam!





